
Answers for Wednesday’s lesson 
A 

There are 0 ones, 1 tenth and 2 
hundredths. The number is  
0.12 

B 

0.33 = 33/100       0.03 = 3/100    3.03 = 3 and 3/100 

a -1.13 
b -1.31 
c- 1.35 
d- 1.53 



C 

D 

1 
1.2 

7 
7 

4 
4.5 



E 

Three and 11 hundredths……. 3 and 113/1000 …… 3.115 

F 



F 

93/300 =  31/100 = 31% = 0.31 

120/300 = 40/100 = 4/10 = 0.4 
320/400 = 80/100 = 8/10 = 0.8 
20/200 = 2/100 = 1/50 = 0.02 
12/50 = 24/100 = -0.24 
 



Because it is nearly summer I have 
found some summer based activities 

that will be helpful for some 
‘random’ revision – keeping on top 
of your knowledge is always good! 

The summer based work might also 
entice the sun back ready for the 

summer holidays! 
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TASK 5: 


